300 = CCC
400 = CD
500=D
&00 = DC
J00 = DCC

800 = DCCC
900 = CM
1000 = M
2000 = MM
3000 = MMM




10 | 50 | 100 | 500 | 1000
I V| X L C D M
5000 |10,000 50,000 | 100,000 | 500,000 | 1,000,000
V| X |L|C | D | M
SUBTRACTIVE RULE

We can *subtract’ a symbol representing a 1, 10 or 100
from the next TWO higher symbols.

Write Instead of For the value of
v I111 4
IX VIIII 9
XL XX XX 40
XC LXXXX a0
CD CCCC 400
M DCCCC Q00




The Latin Numeric System

XXI

XLi

LX1

LXXXI

XXII

XL

LXII

XXX

Lad | b |

XX
XXV

—

XL

XLV

L1
LXIV

LXXXIH

e —

LXXXIV

XXV

XLV

LXV

LXXXV

XXV1

XLVI1

LXVI

LXXXVI]

XXV

XLvui

LXVII

LXXXVIH

XXvil

XLvIN

LXVIHI

LXXXVIN

L - R - T

XXIX

XLIX

LXIX

LXXXIX

=

XXX

LXX

Xc

—
-_—

XXXI

LXXI

X1

-
=]

XXXl

LXXII

xcu

—
el

XXXIn

LXXIH

xam

s

b
LXXV

ATV
XCV

LXXVI

-
vl

LXXVII

Xcvi

XXXvin

Lvin

LXXVIN

xXevin

XXXIX

LIX

LXXIX

XCIX

28(3|8 (88|28 |2(2(8 8|3 |2|n||B(s|x

l

XL

LX

LXXX

C

—

D

M




F.oman Numeral

MNumber

10)

500

1000

500

2 0 A A e

1000




The Latin Numeric System

I LI I 2.5 0 41 | LXI 61 | JLXXX1 | 81
(1] 2 XXu 22 XL 42 LXII 62 LXXXII 82
m 3| [xxm 23 | |xvm 43 | |uxm 63 | |Lxxxm | 83
v 4 XX 24 XL 44 LXIV 64 LXXXIV B4
v 5 XXV 25 XLV 45 LXV 65 LXXXV L]
VI o | |xxwvi 26 | [xLvi 46 | [uxwvi o6 | [Lxxxvi | 86
Vil 7 XXV 27 XLV 47 LXVI 67 LXXXVI 87
VIl 8 | [xxvin 28 | |xevim 48 | fxvin 68 | |Lxxxvin| ss
X 9 XXIX 29 XLIX 49 LXIX 69 LXXXIX 89
X n XXX 30 L 20 LXX 70 XC W
X1 i | xxxi 3 | [u 51| exxa | |xa 91
X [ 12 INNXn | & fkm | S2 ) JEXNXH | 72 | INCen | 92
X111 13 | [xxxm 33 | |um 53 | |Lxxm 73 | [xcm 93
X1V M IXXXIV. ) 3 LY S| JLXXIV. | T4 | IXCIY ..
XV 15 | |xxxv 35 | v ss | |Lxxv 75 | |xcv 95
Xvi 16 XXXVI 36 LVI %6 LXXVI Th XCVI 96
XVII 17 | Ixxxvn 37 | v 57 | [uxxvn 77 | |xcvn 97
XVl 18 | Ixxxvin | 3| [Lvin s | fexxvin | s | [xovin 98
XIX 19 | [xxxix w | |ux 59 | fuxxix 7 | [xXcix 9
XX 0 | |xL a0 | |ux o0 | |Lxxx s0 | |c 100
()] S
M 1000




